Complete the following sentences by writing the contracted form of the
words in brackets.

1. The men (could not) move the heavy load by themselves.

2. We (are not) pleased by the outcome of the debate.

3. (You will) be very surprised by the turn of events.

4. After seeing the condition of the roadway, (we will) petition
the local government representative for assistance.

5. Job said that he (did not) see the small child as he was
running towards the cafeteria.

6. The women stated that (they will) be unable to work under
the deplorable conditions at the factory.

7. The aggrieved farmer made it clear that he (would not)
accept the compensation package offered by the government after the severe
flooding.

8. The bandit (had not) time to escape before the police officers
arrived at the scene of the burglary.

9. The firemen instructed the victim to evacuate the building as they (had not)

determined the source of the blaze yet.

10.Students (should not) arrive to school after the official start
of the school of the school day.

11.(He 1s) not responsible for the damage to the desk as he was

outside when the incident occurred.

12.(She will) be awarded for her bravery shown yesterday.




